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/ The uniform truck ramp has weight 400 Ib and is pinned to the body of the truck at each side and \
held in the position shown by the two side cables. Determine the reaction forces at the pins and the
tension in the cables.
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K The operator applies a vertical force to the pedal so that the spring is stretch@and the force

_in the short link-at8-4s26-1b_Determine the vertical force applied to the pedak:
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. ™
Two-force members

As the name implies, two-force members have forces applied at only two points.

If we apply the equations of equilibrium to such members, we can quickly
determine that the resultant forces at A and B must be equal in

magnitude and act in the opposite directions along the line joining
points 4 and B.
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Examples of two-force members

In the cases above, members AB can be considered as two-force
members, provided that their weight is neglected.

r,—r This fact simplifies the equilibrium analysis of
some rigid bodies since the directions of the
resultant forces at A and B are thus known (along

the line joining points 4 and B).

Ch. 5 Page 6



Page 15

Monday, February 13, 2017 12:55 AM

4 ~

The lever ABC is pin supported at A and connected to a short
link BD. If the weight of the members is negligible, determine
the reaction forces at pins D and 4.
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~
Three-force members

As the name implies, three-force members have forces applied at only three points.

Moment equilibrium can be satisfied only if the three forces are concurrent or
parallel force system

Three-force member
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